Puzzle solved

"Two Squares"
by John de Cuevas
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The omitted letters (in parentheses in the list below) spell
DANTE ALIGHIERI and HARVARD

Down

AcCross
MAN(D)ATE
S(A)ILOR
GLISTE(N)
DOLLY
RINSE

DEVASTA(T)E

GURU
CENTIM(E)
NINA
CANDID
S(A)ARINEN
DETECT
(L)OTTE
AEGIS
HENCE
D(I)STANCES
CURES
TREK
SETTIN(G)S
C(H)EESE
REC(I)SION

MOL(E)ST
ITINE(R)ARY
TIDE
S(I)CKEN
GRAMS
CHESS
ALIENATE
SEET(H)ING
IRON

. (A)CTRESS

. UNIT

. CUTEST

. E(R)RANT

. ERIC

. SEDUCE

. EDEN

. SIDE

. CAN(V)ASS

. SILO

. VENDETT(A)
. COLANDE(R)
. GAR(D)EN

Note: Harvard Square is at the southwest corner of Harvard Yard. Dante Alighieri Square is at the
northeast corner.



